Register No.

5865-23

(For the candidates admitted from 2017-2018 onwards)
LL.B. DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2023.
(Three-year Regular Course)
Third Year — Fifth Semester.
LABOUR LAW —II

Time : 24 hours _ Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words eacﬁ

Qenaipeuaeudmiar @ ey H@ eublaur elemmellh @b FpssTY 500 Qemhsafle
aflenL_wiem&sa .

1. Describe the provisions of the Employee’s Compensation Act, 1923 rélating to
the amount of compensation payable to a workman in case of an injury
causing, death, permanent total disablement and temporary disablement.
Qamiflevmerit @uuli®E slLib, 1923-6 &P wrewd, HIBST ppe@LWTaT 2L
g@fuﬁ@uu LOMHmILD ée_r;@asmﬂes 2 | ngedlpuy GureatpameisEnsE @amplonailss
aprsLIUEDL @PRUEEHS dsTes GNlss emswkismer clleufl&s. )

), Analyse the scope of the Payment of Gratuity Act, 1972 and explain, the
provisions relating to ‘exemption’ and ‘forfeiture’ of gratuity under the Act.
1972-tb e uUallEEQSTDL  QULDEISD sl Lgdleanr Crrsssms e CQeus.
Qg L sdler S LallsbamenL ‘eéE wHmid ‘ublepse’ Aeriiurar Wflesaar

CT&E&HS.

3 Define ‘Factory’. What are the safety measures recommended by the Factories
Act, 1948.
‘Qamfhsrene’ — euemqum. 1948-1D aan® Gsmipsteasdar slLgHar S
UMb TEEIULL. UTGSTLLESTET A pepseT wreneu ?

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
GeraumaiarainmieT @ramgh@ Geidenm allameih@n gnssTp 300 Qerhaafled
_ ~ llenL_well&sa]Lb.
4. State the kinds of benefits and the eligibility to claim the same under the
Maternity Benefits Act, 1961.
1961-1b e[ WSLIGLY HOGTSE FLL SEla & Hen &858 gl HTSET WHMID
Si@sl QUpeSHSTET &GS GNS5 ThHSBIMTES.
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"Describe thei adniinirstra}tive‘v machinery of the‘ Employee’s Sté;ﬁe . Insurance
Scheme. . L

. Ggmfereri <ys TSRS Sl sdar Hpeurs simwiy GHssl sﬁ]mrﬂaﬁ_&.

Explain the provisions relating to ‘working .ﬁoui‘s’ and ‘holidays’ under The

* Tamil Nadu Shops and Establishments Act,' 1947 """~ .

- BUIPBTEH seLs6T WHIDL FpeuaThsEr FLLD, 1947-61 Sip ‘Ceuama Cryb’ wHmIb
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PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :

_ QéraupeuaTaUhmIeT g;b'(é_’lﬂ)@ fp @PluLseT TWgs : |
(@ Schedule Injury | '
- alil_mmdcré; SmuLb
(b) Continuous service |
Qar_réfluner Lienf A
(0 Disqualification for getting bonus
- Sgrdud Gup sefuppaiisar
(d) ‘ESI Corporation -
I an@@nmﬁ Si7s sTUSLHE SPaLD
(&) Empioyee’s Fémily Pension Scheme
' Qgrr;,ﬂcvrrerrﬁ &hHwu @uapHug Hiib
(® Manufacturing Process
- swrfluy Qeweédun®
(g) Welfare officers in factbries.
QsmPpsrarasai® pe é{é‘éﬂﬂ’ﬂﬁd‘l’

PART D — (2 X 6= 12 marks)

Answer TWO of the following by referring to relevant provisions-of 1aw and decided

cases. Give cogent reasons. .

GerameuaTaIpmIET QT H@ FLL u@swkisd wHpID SToralssiuc L apsgsmends

& s&bS sTyETRsELL e el wallssab. -

Giri, is a workman is an industrial establishment. His monthly salary is
Rs. 10,000/-. Due to violent activities at the time of strike along with other
workers, he was terminatéd from service during the accounting year
2015-2016. He claimed bonus for the above said accounting year. The
Management refused. Decide. . . :
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Banu is a woman- working in Tea Estate. Due to pregnancy, withouf giving’

" notice to the employer, stopped working. After Delivery, she claimed maternity )

benefit. She worked only for 100 days in the preceding 12 months period.
Decide whether.she is entitled for maternity benefit? -~ - -
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QupgIeTaTT. BQBES LaIGUY R HaLsG0T aar Shonailss?

Ramu, an automobile mechanic, empliiyirig 20 pei-sons, repai;'s motor cycles”
and cars in open space on the road side. To carry out the painting and welding,
he used a small shed and the electricity. Whether it is a factory? Decide.
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